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QUESTION 1

A is an iterative process used to define a technical solution.
A. constraint

B. best practice

C. logical design

D. design methodology

Correct Answer: D

QUESTION 2

You have been asked to design a virtual machine for a new application developed in-house. The application will be load
tested before it is finally made production ready. The application developers have created documentation based on data
flow and entity dependency. The functionality of the application is critical to the business for a defined project with a
client base of a maximum of 12,000 users. Which of the following scaling approaches would best suit this scenario?

A. Predictive

B. Adaptive

Correct Answer: A

QUESTION 3

You are working on a virtual guest design for the deployment of a critical business application. The software vendor has
provided you with detailed application requirements for the projected workloads. Which of the following scaling
approaches does this describe?

A. Adaptive

B. Predictive

Correct Answer: B

QUESTION 4

Which of the following is not a reason to use virtualization?
A. Save money

B. Improve system performance

C. Save time
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D. Make disaster recovery easier

Correct Answer: B

QUESTION 5

The size of a host can affect the business impact in the event of a VMware HA event.
A. True

B. False

Correct Answer: A
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